==
N = A H A A
20138 = 1 3 Lotg|H AEusy ~ HA
2 AL s
Hi: zZ=z8283 NI (sHYsd/=Y - =&

& Xat=2e| (9 ® =)
2A-ZH-dA(SA) - HRAS - Ofl & oH I & Hl w&z2
ALNE N 26,045,520 21,786,631 4,258,889

= 7,300 0 7,300

& 4,756,000 4,756,000 0

= 100,000 0 100,000

= 20,000 20,000 0

< 3,203,429 3,234,028 A 30,599

s 17,958,791 13,776,603 4,182,188

sEE8s N2 (sgigsd/=2 - 55) 11,170,586 8,543,336 2,627,250

& 4,316,000 4,316,000 0

£ 100,000 0 100,000

& 20,000 20,000 0

< 603,850 663,400 A 59,550

s 6,130,736 3,543,936 2,586,800

KXl ot==2t2| 61,986 56,736 5,250

< 6,250 7,800 A 1,550

[ia 55,736 48,936 6,800

XNots OIS AEH ZAL 2 20,850 15,600 5,250

< 6,250 7,800 A 1,550

s 14,600 7,800 6,800

401 Al& I 2 O8I 20,850 15,600 5,250

= 6,250 7,800 A 1,550

s 14,600 7,800 6,800

01 A& HI 20,850 15,600 5,250
OXIGt= OISAH A 829

Z & 20,850,000 * 14 20,850 15,600 5,250

= 6,250 7,800 A 1,550

s 14,600 7,800 6,800

S EHE I 6,111,600 4,031,600 2,080,000

= 1,066,000 1,066,000 0

& 20,000 20,000 0

< 245,600 295,600 250,000

s 4,780,000 2,650,000 2,130,000

A2 EAIE FHI 3,805,000 2,175,000 1,630,000

401 AIEBIZ 28I 3,770,000 2,140,000 1,630,000

INE=1:1 3,770,000 2,140,000 1,630,000

O=gIIEtAIE HHEIALS 1,530,000 0 1,530,000

Ol =2 &EbBI3SAt 10,000 0 10,000

ONEE S22 N MY 35,000 0 35,000

OJI20tS =2 FHI S A 30,000 0 30,000

S2(MelB)=s2 ZHISA 35,000 0 35,000

O (2 2)=2 ZHISA 15,000 0 15,000

OEz0ts s2 EH3A 30,000 0 30,000

Oz=slts =2 ZE3A 30,000 0 30,000

O (02 FHHIAL 30,000 0 30,000

FEAXNF =M AS 30,000 0 30,000




SN ALDSD

ol sEgs N (SEHYL/5Y - 52)

Sl M BEY (B9 ®R)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
SEEEEETIRE 15,000 0 15,000
O"3Z SH+2 A 30,000 0 30,000
ORENT SZEZSM 25,000 0 25,000
OHIZXNT 42 FHIZA 25,000 0 25,000
OJES0E 52 HETA 30,000 0 30,000
OBMNT Y8 VE PHTA 10,000 0 10,000
O3 Y0E S2EFBM 20,000 0 20,000
OBSNE S2EYZM 30,000 0 30,000
02502 SAINLAE HHAY 30,000 0 30,000
OSYNT SHH42 JUITA 30,000 0 30,000
ORENT SN BYIZA 30,000 0 30,000
ORNTT SHHEE FHIZA 30,000 0 30,000
OQNTT SAINLAE HHIZA 30,000 0 30,000
OYUTT SAINLAIE HEIZA 30,000 0 30,000
OYUTT W42 FUIZAM 60,000 0 60,000
OMIXT =AINYAIE HHIZA 30,000 0 30,000
OV SAINLAE HEIZA 30,000 0 30,000
OUEXT SYINUAIE HUIZA 30,000 0 30,000
ONYINATX A2 EYBA 20,000 0 20,000
OBOXT =AINLAL HHIZA 30,000 0 30,000
8902 52 TFAY 20,000 0 20,000
OLAOlE B2 HHI A 30,000 0 30,000
Odgy FHAL 100,000 0 100,000
ONFOIE 52 FHlAY 20,000 0 20,000
CIETENTES PEE-IY 30,000 0 30,000
ORFDIE 52 THBA 25,000 0 25,000
OHAETT SYINLAL HHIZA 25,000 0 25,000
OBATT SAINLAE HHIZA 20,000 0 20,000
OS50I2 52 STHTA 120,000 0 120,000
OMSARX Z& A 70,000 0 70,000
OBEOIS 52 THTA 30,000 0 30,000
OU&E(NB) 52 ZHBM 20,000 0 20,000
O8=202 8H4+2 JUIZAM 30,000 0 30,000
OFENS 52 THTA 30,000 0 30,000
OHENS 52 ZHTA 30,000 0 30,000
OBHOIZ W +2 BUIZA 30,000 0 30,000
OH=S0E 52 THTA 20,000 0 20,000
OHZNT SBH+2 BUIZA 30,000 0 30,000
QMRS SAINLAE HHIZA 40,000 0 40,000
OARBSAIIBAIL FHIA L

23 300,000,0008 300,000 200,000 100,000
AT D)4 A 250,000 300,000 A50,000




2N
X ZH -
L= B

el

SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
[ 100,000 150,000 /50,000
a 150,000 150,000 0
401 AIEBIZ 2T 250,000 300,000 /50,000
3 100,000 150,000 250,000
s 150,000 150,000 0
01 A€ dl 250,000 300,000 A 50,000
OsEXF ==& A ZZE 250,000,000& 250,000 300,000 250,000
S 100,000 150,000 250,000
= 150,000 150,000 0
Sl AIEINE % 1,000,000 500,000 500,000
= 400,000 400,000 0
S 30,000 30,000 0
= 570,000 70,000 500,000
403 TtXI M S A =01A 500,000 0 500,000
02 I 2 S0l O &t CH & AF& I 500,000 0 500,000
ONAXI T =&AL 500,000 0 500,000
SEXNSHE 4,892,000 4,450,000 442,000
& 3,250,000 3,250,000 0
S 352,000 360,000 8,000
= 1,290,000 840,000 450,000
SEOS SEHYE 992,000 1,000,000 A8,000
& 700,000 700,000 0
S 82,000 90,000 28,000
T 210,000 210,000 0
403 AXIHHSXH=0lA 992,000 1,000,000 8,000
& 700,000 700,000 0
S 82,000 90,000 28,000
= 210,000 210,000 0
02 I 2SOl CH & CH & AF& I 992,000 1,000,000 A8,000
OBZHY =sZE0IS SHMLAE
Z & 992,000,000 14! 992,000 1,000,000 A8,000
& 700,000 700,000 0
S 82,000 90,000 A8,000
ia 210,000 210,000 0
SOHEHISEAXZEAY 900,000 450,000 450,000
& 450,000 450,000 0
a 450,000 0 450,000
403 AXHHS =0l A 900,000 450,000 450,000
& 450,000 450,000 0
= 450,000 0 450,000
02 BI1 2SOl CH &t CH & AF& I 900,000 450,000 450,000
HotX 7 s EH0SEXE
Z & 900,000,000 #1241 900,000 450,000 450,000
& 450,000 450,000 0
= 450,000 0 450,000
= & ol ofl 2 100,000 0 100,000




SN ALDSD
Yo sEZYYs N (SEHSA/5Y - 55)
SH9: Ol THoH Ol CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
S 700,000 0 700,000
HoHSIE AZH Zbl 100,000 0 100,000
s 100,000 0 100,000
401 AIEHI L 2T bI 100,000 0 100,000
s 100,000 0 100,000
01 Al& I 100,000 0 100,000
OZHARK FHIBAH0REZSEDA)
EERSEREY 100,000 0 100,000
s 100,000 0 100,000
CERAM(+ELDE/ER) 11,384,311 10,171,311 1,213,000
3 440,000 440,000 0
= 2,218,000 2,200,000 18,000
2 8,726,311 7,531,311 1,195,000
czsxe 3,975,411 3,262,411 713,000
< 218,000 200,000 18,000
2 3,757,411 3,062,411 695,000
S2RN e 100,976 80,976 20,000
206 T2 | 31,200 11,200 20,000
01 2 bl 31,200 11,200 20,000
ozzsXB H2PY 31,200 1,200 20,000
OM&EXM(stz s, 2oH) 7
2H 7,000,000 «25 14,000 4,000 10,000
OEZBRM(SSE 0lAZ) 7Y
2 7,000,000 2% 14,000 4,000 10,000
D2l U MR Fy| 1,860,000 1,205,000 655,000
401 AIEHI L 201 bl 1,860,000 1,205,000 655,000
01 Al& I 1,855,000 1,200,000 655,000
ON20HS T Y2 FHIB A 5,000 0 15,000
ORE NS LB B A 15,000 0 15,000
OPTUHSAATYI T A 15,000 0 15,000
CENhELEE-TEIY 20,000 0 20,000
OURAYZ SR YIS A 20,000 0 20,000
CEETEE-TEY 15,000 0 5,000
OREUISH &2 BT A 10,000 0 10,000
CEENELEN RS- TE-IY 10,000 0 10,000
O N TAATHI T A 20,000 0 20,000
OB OIS AATYI T A 20,000 0 20,000
O X RO FHI B Al 30,000 0 30,000
O YLK PO LB HI B A 30,000 0 30,000
ORSIISAATHIZ A 20,000 0 20,000
O AOIS AT T A 40,000 0 40,000
OHSOISALTEE B A 15,000 0 15,000
O POIS O HHI B A 30,000 0 30,000




2 HEnsy
HM: C2AH (5L NS/E2)
G cRex e (SH2:EH)
2A-F3H-H2A(3) - MY - BES Of] Ak I & Hns2Z
OZ0I0IS oL HHI S At 30,000 0 30,000
OBIH OISt 2 HHIAY 30,000 0 30,000
OMFOIS L HHIALY 30,000 0 30,000
OLZE0IS 2L HHIAY 20,000 0 20,000
OY20t2X L2 YIS At 20,000 0 20,000
ORZNISTU2S T I A 100,000 0 100,000
2SO L2E L H I A 100,000 0 100,000
C2AEH I UXAY 40,000 20,000 20,000
401 Al HI 2 2 0HH| 40,000 20,000 20,000
03 Al 2 THHI 40,000 20,000 20,000
OZZ23FH B X2 23 40,000,000 40,000 20,000 20,000
§eo e 18,000 0 18,000
< 18,000 0 18,000
401 AlIEHI 22T 18,000 0 18,000
< 18,000 0 18,000
01 Al HI 18,000 0 18,000
OBTPATHH ALY 18,000 0 18,000
= 18,000 0 18,000
SHEZ2AMY 2,050,000 1,550,000 500,000
SHEZ 2 MY 1,855,000 1,355,000 500,000
401 Al&HI 2 20| 1,855,000 1,355,000 500,000
1 Al b 1,850,000 1,350,000 500,000
OsHEZ2AMY 1,850,000 1,350,000 500,000
OYA~2H(AH2/101) C2TE DA
A 400,000,000 400,000 200,000 200,000
O£xL-E22HSIL1015) T2 T EH B A
A 400,000,000 400,000 100,000 300,000
WEHY MHA(+3LNS/HENE - S2SIIE) 3,327,658 2,911,134 416,524
= 7,300 0 7,300
= 381,579 370,628 10,951
= 2,938,779 2,540,506 398,273
NEYY 2Y 446,188 405,386 40,802
=2 7,300 0 7,300
= 19,170 8,219 10,951
2 419,718 397, 167 22,551
HX A DEZETA 23,200 11,600 11,600
[ 6,000 6,000 0
= 17,200 5,600 11,600
101 Q1244 23,200 11,600 11,600
[ 6,000 6,000 0
z 17,200 5,600 11,600
04 JIZHHM 22X SE 23,200 11,600 11,600

_5_




SN ALDSH
Hu: DEUH WM (LSUDE/HEDE - 25 SIIEH
ool DEHY 2Y CER-ED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
OHNC-H NSEAN ALY
2 40,0008 +50% x5 23] 20,000 10,000 10,000
= 6,000 6,000 0
2 14,000 4,000 10,000
OHl4+ALs DEFEA A2
2 40,0008 48T +52 #23] 3,200 1,600 1,600
HERSHNa 4,440 4,438 2
< 2,220 2,219 i
2 2,220 2,219 1
307 2I2HOI & 4,440 4,438 2
< 2,220 2,219 1
2 2,220 2,219 i
02 BIAANBE 4,440 4,438 2
OZUHA DEIHE +42 X
A 4,440,008 4,440 4,438 2
< 2,220 2,219 1
2 2,220 2,219 i
A 2#II=HK K 29,200 0 29,200
= 7,300 0 7,300
< 10,950 0 10,950
2 10,950 0 10,950
307 2I2HOI & 29,200 0 29,200
= 7,300 0 7,300
< 10,950 0 10,950
2 10,950 0 10,950
EEEPES 29,200 0 29,200
OMYSNST FNASHISHR LXK 29,200 0 29,200
2 7,300 0 7,300
< 10,950 0 10,950
2 10,950 0 10,950
DEXHANLEE B 615,606 596,050 19,556
HASHHIIA 2 378,556 359,000 19,556
101 @124l 1,556 0 1,556
4IRAMBRUISES 1,556 0 1,556
OEDIE 2 A0IHEA B2l A2y
38,8802 *402 1,556 0 1,556
401 Al EHI L 2O HI 374,000 356,000 18,000
01 Al&HI 374,000 356,000 18,000
OHASHHIIA A7 &X
2 9,000,0008! *167H A 144,000 126,000 18,000
HA-s 24YH KR 2,265,864 1,909,698 356, 166
= 362,409 362,409 0
2 1,903,455 1,547,289 356, 166
S4H N 1,112,000 950,000 162,000
307 2I2H0I & 1,112,000 950,000 162,000




AN A4S0

A WEHH NHE (8L nS/HERS - 22 SIIEH

ool X 24 N EERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-E" Hl DS 2

09 2+AHEXS 1,112,000 950,000 162,000
ORIEX= Z2& 1,062,000,000& 1,062,000 900,000 162,000
SHEH2A HEX2Z 573,338 379,172 194,166
< 189,586 189,586 0
= 383,752 189,586 194,166
307 21201 A 573,338 379,172 194,166
< 189,586 189,586 0
[ia 383,752 189,586 194,166
09 S+=HAHEXS 573,338 379,172 194,166
Q20128 sHEHA2SZHM MBS 194,166 0 194,166
HRes(H4ns) (3L E/HELE - 2RSIIE) 77,379 75,264 2,115
SBEXNE(AEnsn) 2,115 0 2,115
2. SHEx3EES 2,115 0 2,115
802 Ere+ 3 JI EF 2,115 0 2,115
02 Al - EHIEXSEHEZ 2,115 0 2,115
OZHExz ZHENH 2,115 0 2,115




